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問 4.4 次の関数の導関数を，対数微分法を用いて求めよ。 

(1) 3 2(2 1) (4 1)y x x= + −  …① 

   対数をとると 3 2log log(2 1) (4 1)y x x= + −  

             3 2log(2 1) log(4 1)x x= + + −   [性質： log log logPQ P Q= + ] 

             3log(2 1) 2log(4 1)x x= + + −   [性質： log logkP k P= ] 

   微分すると  
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   対数をとると 
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            3 2log(2 1) log(4 1) 3log(2 1) 2log(4 1)x x x x= + − − = + − −  

   微分すると  
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よって，①より 
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問 4.5 次の関数を微分せよ。 

(1) 2 13 xy +=   2 12 3 log3xy + =    

(2) 
2 3 2x xy e − −=   

2 3 2(2 3) x xy x e − − = −  

(3) 3( 1) xy x e= −  3 3 31 ( 1) 3 (3 2)x x xy e x e x e =  + −  = −  
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(5) 2( )x xy e e−= +  2 22( )( ) 2( )x x x x x xy e e e e e e− − − = + − = −  [指数法則： ( )m n mna a= ] 

（詳細： 2 ( )x xy u u e e−= = +  ⇒ 2y uu= ） 


